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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6

BfiE) | GEBAK ) | ERE (EAR/H) | BERERE (B/R) | XS R

06:40 273 150.0 2.583 || FiHA@06:40 KREFEF (KREAFZESE)
07:25 273 150.0 2.583 || FuHRe07:25 KEHIEFE (GREERSE)
08:50 273 150.0 2.583 || FnHA@08:50 KEIEF (KREERSE)
09:50 273 150.0 2.583 [dhif§| FHEHA@O9:50 KENFEF (kAfREER)
10:35 273 150.0 2.583 [dhig| FiHA@10:35 KEFEFE CGRAHEESE)
11:20 273 150.0 2.583 || FHR@11:20 REIEF (GREERE)
12:00 273 150.0 2.583 [dhig| FHA@12:00 KEIEF CRAHEESE)
12:40 273 150.0 2.583 [dhilg| FhHA@12:40 KEIEFE CGRAFEESE)
13:20 273 150.0 2.583 || FHHA@13:20 KENFZEF (RAMEEEE)
14:05 273 150.0 2.583 || FiHAe14:05 KREEF (KREEZBE)
14:50 273 150.0 2.583 [dhil§| FhHA@14:50 KEFEF (CGRAMEEE)
15:40 273 150.0 2.583 [/\f| FnHR@15:40 KREIEF (GREEZERE)
16:40 273 150.0 2.583 [/\fi| FnHR@16:40 KREIEF (REMERESE)
23t 3549.0 (13%) 1950. 0 FHIKEC: 2200, PH: 5.6

FRBIFE NS RFERPH 5.6, HTHERNASZIFESBIEPH, §F AR
#[EKECZE (1703.0 vs 6163.0) 15
FRAE NS KFREC 2200. 0




ET (ml/hr/plant)

P3-6_0, Day=78 (2025-06-15)
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P3-6

BfiE) | BRI (7)) | EME (EHR/4) | BEBREE B/ =5 R

06:50 273 150.0 2.583 E| {BRige06:50 Bz (KREERSE)
07:50 273 150. 0 2.583 Z| 1Bi%e07:50 B3h (GREERESE)
08:50 273 150.0 2.583 FH| 1RRi&@08:50 B (FRFA{EESE)
09:50 273 150.0 2.583 FA| 1BRi%@09:50 B3h (KA{ERE)
10:45 273 150.0 2.583 FA| 1B2i%@10:45 B3h (kAEREE)
11:40 273 150.0 2.583 PR 1Ri&@11:40 B (RS
12:35 273 150.0 2.583 FA| {Ri%@12:35 Bz (GRAEEE)
13:30 273 150.0 2.583 FA| {Ri%@13:30 Bz (GRAERE)
14:40 273 150.0 2.583 FH 1Rige14:40 Bzh (GRAEREE)
21t 2457.0 (9%) 1350.0 3IHKEC: 2200, PH: 5.8

BEREWN S RFEEPH 5.77, BTN A IFEIAIEPH, EFshiFE
#HEKECE (1727.0 vs 5857.0) 15
FRAE NS KFREC 2200. 0




P3-6_0, Day=77 (2025-06-14)
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P3-6

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

05:40 273 150.0 2.583 FA| 1B2i%@05:40 B3zh (RAB{ERSE)
06:30 273 150.0 2.583 |Z=| {Ri&%e06:30 Bz (KREEZEHE)
07:20 273 150.0 2.583 |Z=| {Ri%e07:20 B (REEZHE)
08:10 273 150.0 2.583 |Z=| {Ri%e08:10 Bz (KREAEZEHE)
09:00 273 150. 0 2.583 (£=| {Ri%@09:00 Bz (KRRAEDSE)
09:50 273 150.0 2.583 (£ =| {Ri%@09:50 Bz (KRAERSE)
10:55 273 150. 0 2.583 FA| 1B2i%@10:55 Bzh (kAIEREE)
12:50 273 150.0 2.583 FA| 1BRi%@12:50 B3h (RABERESE)
13:35 273 150.0 2.583 FA| 1BRi%@13:35 B3h (KRAERSE)
14:15 273 150. 0 2.583 FR| 1BRi%@14:15 Bzh (kAEREE)
14:50 273 150.0 2.583 FA| 1BRi%@14:50 B3h (RABIERSE)
16:00 273 150.0 2.583 FA| 1BRi%@16:00 B3h (KRAERESE)
24t 3276.0 (12)%) 1800. 0 ZHIKEC: 2200, PH: 5.9

large discrepency for begining water status (534:135.0), set to 534 ml.
IRBIE NS Rt i&PH 5. 93
HE[EKECE (1760.0 vs 6403.0) i35
RREVE S REIREC 2200. 0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=76 (2025-06-13)
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